EMEHTRRZEREE —MEEIIRGESRE

EEX FEHIE K % £ B F Bx H#E
F1 1 KB B A LMBHHRFRER 95 X 0
£ 2 AXH E-— LtBEHEFFHRRDEH 63 - £3 7]
R 3 =R ®F AMETHRFFESE 64 ¥ 3 27
£ 4 =R #HE EMEHRFFRE 61 - £3 7]
£ 5 AE H # ALRETRTILFENEKRE 69 - £3 I
£ 6 BB % E AAMEHLRFANEER 63 - £3 7]
F1 7 Eik EXiH JAMEHERFAH 63 - £3 0
F1 8 BB 5h dLRRETERFERIE 68 =¥ I
F2 1 i R AERETREeTFESFTE 63 =¥ #
F2 2 2 W IE & LMETEReFR/ S 56 -3 3 #
2 3 R =- AMEHEtAETFE/A 69 B 27
£2 4 mHEH A AN LLBEWmEtETFREE 50 H#k%‘ZE #’
%3 1 = # B JEMETm=KAFAH 62 - £3 7]
%3 2 N R B AEMBTAFEFERS o4 - £3 7]
%3 3 B B B AMBTERFERS 45 X 0
%3 4 B XX LBETTEFNMNE 65 - £3 7]
%3 5 ¥ % ALMETHIBRF/NEES 42 =¥ #
%3 6 EE X E LMEHESFEER 58 -3 3 I
%3 7 g &R EMETERFRESR 62 =¥ H
%3 8 £ B 2 AMEmIIHFERS 47 =¥ H
%4 1 wim HE AMEHNRFTE/ B 69 =¥ H
E4 2 %@ EA/RE AMEATAEFE/T 66 B 27
%4 3 12 N 2 MHEmEEFEELE 69 =¥ i
%4 4 £ Bt eMETRRRFESH 99 =¥ H
%4 5 A#F I E AMETRNRFEMT 63 -3 3 #
E4 6 HF B Mk LMEHEKEFREKE 14 B 27
%5 1 £ B 5h = JAREHFRCEFFRFX 63 =¥ #
E5 2 £ H E— ALMAHRMZHMFRFFKER 63 =¥ L)
%5 3 E MK A # dMETHMAC-SEHEFEE 65 Bx L]
E5 4 = L ALFREMRECRETE S £ 64 =¥ 1




